PHYS 5040
Algebra and Topology in Physics
Spring 2021

Lecture 12

February 23



Review the representation theory of SU(2) and SO(3).
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Interpret 1 ® 1=061@ 2 in terms of vector multlphcatlon
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What are the representations of O(2)? What about SO(2)?
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@ How does the j =1 irrep of SO(3) decompose into irreps of O(2)?
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@ How does the j = 2 irrep of SO(3) decompose into irreps of O(2)?
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Explaln why the dihedral groups Da,, < O(2). How do the irreps of
2) decompose into irreps of Dy, ?
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Re-interpret the irreps of Dg in terms of branching rules from O(2).
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Describe the most general form of the elasticity tensor in a
two-dimensional crystal with Ds,, invariance.



